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POLITICAL SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  In his concept of Ideal state, Plato employs the term “appetite’ which refers to :
(A) Soldiers (B) Rulers (C) Artisans (D) Individuals
2. The concept of ‘best practicable state’ is the contribution made by :
(A) Plato (B) Cicero (C) Aristotle (D) Thomas Acquinas
3.  Match the List - I with List - II and select the correct answer from the codes given
below :
List - I List - IT
(Doctrine) (Thinker)
(a) Doctrine of Secularism (i) Hobbes
(b) Doctrine of Consent (i) Rousseau
(¢) Doctrine of Individualism (iii) Machiavelli
(d) Doctrine of Freedom (iv) Locke
Code :
@ b © (@
A) ) @) 0 )
® () @) O G
© () (v O (i)
D) (v) @) @) @
4.  Which one of the following pairs is not correctly matched ?

(A) Idea of spiritualization of Politics - Mahatma Gandhi

(B) Concept of New Humanism - M.N. Roy
(C) Concept of Village Reorganization - ]J.P. Narayana
(D) Concept of spiritual determinism in history - B.R. Ambedkar
5.  Who authored ‘Two Treatise on Civil Government’ ?
(A) Hobbes (B) Locke (C) J.S. Mill (D) T.H. Green
6. Who among the following authors has written about ‘Justice’ based on
‘Contracteuralism’ ?
(A) Lenin (B) Nozic (C) Rawls (D) Rousseau
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10.

11.

12.

13.

Which one of the following pairs is not correctly matched ?
(A) Doctrine of Two Swords - John of Salisbury

B) Theory of Distributive Justice - Rawls

Idea of Contradictions - Mao

Concept of New Humanism - Lenin

The ideology which has revolted against to prescriptive theory of politics is known as :
(A) Behaviouralism (B) Post - behaviouralism

(C) Communitarianism (D) Liberalism

“The Government of the Church rests upon the consent of its members’, this was upheld
by :

(A) Renaissance (B) Conciliar movement

(C) Age of Enlightenment (D) Scholasticism

Given below are two statements, one labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) The only rational governmental form for the present stage of
historical development, Hegal says, is constitutional monarchy.

Reason (R) : But for German temperament, monarchical absolutism alone is
suitable.

In the context of the above two statements which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

The Chairman of the States Reorganisation Commission was :
(A) K.M. Panikkar (B) Justice Fazal Ali
(C) H.N. Kunzru (D) Justice Rajamannar

The first Indian Governor - General was :
(A) Rajendra Prasad (B) Radhakrishnan
(C) C. Rajagopalachary (D) Mavalankar

The Federal System of India is closer to the Federal System of :
(A) United States of America (B) Canada
(C) Switzerland (D) France
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14.

15.

16.

17.

18.

19.

20.

21.

22.

Which one of the following is not headed by the Prime Minister ?
(A) National Development Council (B) Union Council of Ministers

(C) Planning Commission (D) Finance Commission

The Parliamentary system of India is not based on the principle of :
(A) Collective Responsibility (B) Judicial Supremacy
(C) Separation of Powers (D) Federalism

Under which Article(s) of the Constitution, the President of India could be

impeached ?
(A) Article 76 (B) Articles 56 and 61
(C) Article 75 (D) Article 79

Which of the following words were added to the Constitution of India through 42nd

constitutional amendment ?
(A) Democratic Federalism (B) Secular and Socialist
(C) Indian Republic (D) People of India

The duration of the Lok Sabha and the State Assemblies was increased from 5 to 6

years by :
(A) Forty - second Amendment (B) Forty - fourth Amendment
(C) Forty - fifth Amendment (D) Forty - sixth Amendment

The Ministers in the state could be prosecuted only with the approval of :
(A) Chief Minister (B) Governor
(C) Council of Ministers (D) Speaker of the Legislative Assembly

The Socially most advanced State in India is :
(A) Andhra Pradesh (B) Punjab
(C) Kerala (D) Rajasthan

“Who gets what, when and how” is the subject matter of politics. Who said this ?
(A) Lasswell (B) Laski
(C) David Easton (D) Almond

The systems theory came to social sciences from :

(A) Biology through Anthropology and Sociology

B) Physics through Mathematics and Economics
Mathematics through Economics and Political Science

Biology through Political Science and Sociology
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23.

24.

25.

26.

27.

28.

29.

30.

The oldest second chamber in the world is :
(A) Rajya Sabha (B) House of Lords
(C) US Senate (D) Canadian Senate

According to Lucian Pye, the crises of political development are :

(i)  Identity (i) Legitimacy

(iii) Urbanisation and Industrialisation (iv) Participation
Which of these are correct ?

(A) (i), (ii) and (iv) (B) (i), (iii) and (iv)

(©) (), (ii) and (iii) (D) (i), (iii) and (iv)

The important features of the western concept of constitutionalism are :
(i) Ideology (i) Rule of Law

(iii) Representative institutions (iv) Strong public opinion
Which of these are correct ?

(A) (i), (ii) and (iii) (B) (i), (iii) and (iv)

(©) (), (iii) and (iv) (D) (i), (ii) and (iv)

Who among the following believed that the governing elite rules by a mixture of force
and cunning ?

(A) Mosca (B) Pareto (C) Mills (D) Michels

Which one of the following countries has a mix of parliamentary and presidential
forms of government ?

(A) India (B) U.S.A. (C) United Kingdom (D) France

A simple three - fold classification of political parties into single party system two party
system and multi party system has been made by :

(A) Duverger (B) La Palombara
(C) Jean Blondel (D) Alan Ball

Which one of the following countries has a separate constitution for each state ?
(A) UK. (B) U.S.A. (C) France (D) India

Given below are two statements, one labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) Under Article 312 of the Indian Constitution, the Rajya Sabha
can create news All - India services in national interest.
Reason (R) : The Rajya Sabha is better placed to define national interest.

In the context of the two statements, which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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31.

32.

33.

34.

35.

36.

37.

The principle of balance of power aims at :
(A) Equilibrium (B) War
(C) Disequilibrium (D) Status quo - ante

‘Agenda for peace’” proposal is associated with :
(A) League of Nations (B)  United Nations
(C) India (D) Commonwealth of Nations

‘Objective laws of nature’ is a principle of realism, enunciated by :
(A) E.H. Carr (B) George F. Kennan
(C) Morgenthan (D) Henry Kissinger

The Theory of ‘Trading State” is enunciated by :
(A) Rosecrance (B) Adam Smith
(C) Robert Cox (D) Lenin

The meaning of realism revolves around power and :
(A) Security (B) War
(C) Ideology (D) National Interest

Idealism is based upon :
(A) Supremacy of Law (B) Supremacy of Peace
(C) Supremacy of Reason (D) Supremacy of Ethics

Given below are two statements, labelled as Assertion (A) and other as Reason (R).
Choose the correct answer :

Assertion (A) ‘Globalisation has undermined the relevance of nation state’.

Reason (R) : No, Nation State is still relevant as nationalism continues to be a
potent force.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true and (R) is false

(A) is false and (R) is true
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38.

39.

40.

41.

42.

43.

Match the List - I with List - II and answer the correct match by using the codes given
below :

List - I List - II

(a) P.V. Narasimha Rao (i)  Six - Nations disarmament conference
(b) Morarji Desai (i) Pokhran - II
() A.B. Vajapayee (iii) Look East policy
(d) Rajiv Gandhi (iv) Genuine non - alignment
Code :
@ (b (© ()
(A) (v) @) @ (@)
(B) (@@ @v) @) @
© @ @) @G (@v)
(D) (@) @) @) @0

Identify the correct chronological sequence of the following events :

(A) Teheran conference, Yalta conference, Potsdam conference, San Francisco peace
treaty

(B) San Francisco peace treaty, Potsdam conference, Teheran conference, Yalta
conference

(C) Yalta conference, Teheran conference, San Francisco peace treaty, Potsdam
conference

(D) Potsdam conference, Yalta conference, San Francisco peace treaty, Teheran
conference

Identify the correct chronological order of the following personalities, who held the
office of the Secretary - General of the United Nations :

(A) Dag Hammerskjold, Tryque Lie, Uthant, Kurt Waldheim
B) Tryque Lie, Uthant, Kurt Waldheim, Dag Hammerskjold

) Uthant, Kurt Waldheim, Dag Hammerskjold, Tryque Lie
D) Tryque Lie, Dag Hammerskjold, Uthant, Kurt Waldheim

Public Administration as a discipline was born in :
(A) UK. (B) U.S.A. (C) France (D) India

The oldest approach to the study of Public Administration is :
(A) Legal Approach (B) Philosophical Approach
(C) Historical Approach (D) Behavioural Approach

Who among the following makes a clear distinction between public and private
administration ?

(A) Henri Fayol (B) Mary P. Follet
(C) L. Urwick (D) Paul H. Appleby
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44.

45.

46.

47.

48.

49.

50.

The first book on New Public Administration was edited by :
(A) Frank Marini (B) D. Waldo
(C) James C. Charlesworth (D) L.D. White

The Hawthorne experiments conducted by Elton Mayo and his colleagues gave rise to
new thinking called :

(A) Scientific Management (B) Classical Theory
(C) Bureaucratic Theory (D) Human Relations Theory

Which one of the following is not the objective of Scientific Management ?
(A) Informal group functioning

(B) Planning of daily work

(C) Standardization of working conditions
(D) Standardization of work methods

Who among the following classified staff into three types - general staff, technical staff
and auxiliary staff ?

(A) Pfiffner and Presthus (B) L.D. White
(C) ].D. Mooney (D) Albert Lepawsky

Superior - subordinate relationship through a number of levels of responsibility is
called :

(A) Span of Control (B) Hierarchy
(C) Delegation (D) Unity of Command

In a democracy, a civil servant must be committed to :
(i)  the execution of public policy (ii) the goals of the Constitution

(iii) the common good (iv) the ideology of the ruling party
Which of these are correct ?

(A) (i), (i) and (iii) (B) (i), (iii) and (iv)

(C) (ii), (iii) and (iv) (D) (i), (ii) and (iv)

Max Weber’s three - fold classification of authority include :

(i) Hereditary authority (i) Traditional authority
(i) Charismatic authority (iv) Legal - Rational authority
Which of these are correct ?
(A) (i), (i) and (iii) (B) (ii), (iii) and (iv)
(©) (i), (iii) and (iv) (D) (i), (ii) and (iv)
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